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Two-way ANOVA, factor effects model

The k" observation in cell (i,j) is denoted Y, i = 1,...,a,j=1,...,b,

= 1,...,n, and the model for this observation says:
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Assumptions on the ¢;;: independent, normally distributed, with mean 0
and constant variance o?
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Notation ,ﬁo« Uwﬂ?ﬁ

Let ¥; = > ;_, Yix, be the sum of the observations for the treatment
corresponding to the i" level of factor A and the j level of factor B.

The corresponding mean is:

— 1

The Sﬁ_g of all observations for the it level of factor A is:
Y. = MU\.H_ M;LMH_ Yiji
and the corresponding mean is:
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Notation, con.

The total of all observations for the ji" level of factor B is:
Y. =izt 2 Yik
and the corresponding mean is:

— 1
Y; = MNMMO..

The sum of all observations in the study is:

a b n
Y.o=> ) ) Y

Li=1 j=1 k=1

and the overall mean is

Y = Fw
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